APES 2nd Cumulative Review Test (Ch.1-8, 10- 12, 18, 24 and 25) VERSION A

 

PART A – MULTIPLE CHOICE

  DIRECTIONS:  Select the response that BEST ANSWERS each question or BEST COMPLETES each 
                             sentence.  Place all answers on the answer sheet.

  

1. Which of the following statements regarding developed countries and developing countries is true?

a) Developed countries are home to twice as many people as developing countries.

b) Developed countries are home to four times as many people as developing countries.

c) Developed countries have more rapid population growth rates than developing countries.

d) Developed countries have lower per capita GNPs than developing countries.

e) Developed countries generally have safer water supplies.

2. The level below which a potentially renewable resource can be used without reducing its available supply throughout the world or in a particular area:

a) sustainable yield

b) economic depletion

c) resource partitioning

d) symbiosis

e) carrying capacity

3. The global human population is closest to which of the following?

a) 5 billion

b) 6 billion

c) 7 billion

d) 10 billion

e) 12 billion
4. The degradation of spaces on and surrounding Earth which are outside of the domain/ ownership/ rule of any country is known as:

a) The common curve 

b) The tragedy of the commons

c) The circle of the sustainability. 

d) The imminent domain.

e) The tragedy of the cheese.

5. In the equation, I = P A T, I represents:

a) resource technology

b) inertia of a population

c) introduced species

d) environmental impact of a population

e) infant mortality

6. The first law of energy states that:

a) doing work always creates heat.

b) altering matter is the best source of energy

c) energy cannot be recycled

d) energy is neither created nor destroyed.

e) Entropy tends to increase

7. Earth is essentially a(n) system regarding matter and a(n) system regarding energy.

a) open; open

b) open; closed

c) closed; closed

d) closed; open

e) open; self-sustaining

8. Plutonium-239 has a half-life of 24,000 years.  How long will a sample need to be kept in safe storage before it decays to a safe level?

a) 100 years

b) 240 years

c) 340 years

d) 240,000 years

e) 2,400,000 years

9. An ecological footprint is defined as

a) The impact of an individual may have on a given area of land

b) The amount of biologically productive land and water needed to sustain an individual within a population

c)  The carrying capacity of the earth for a given population

d)  The amount of land and water that has been converted to nonproductive use within a given geographical region.

e) The usage of non-renewable energy resources in developed countries.

10. Which of the following are considered to be causes of key environmental problems?

I. Population growth

II. Unsustainable resource use

III. Poverty within a population

a)   II only

b)   I and II only

c) I and III only

d) II and III only

e) I, II, and III only

11. The pyramid (ecological pyramid) which best explains why there are typically only four or five links in a food chain is the pyramid of :

a) Biomass

b) Matter

c) Numbers

d) Energy

e) Inversion

12. The form of nitrogen most usable to plants is

a) Ammonia

b) Nitrogen gas

c) Proteins

d) Nitrates

e) Nucleic acids

13. All of the following increase the amount of carbon dioxide in the atmosphere except :

a) respiration

b) photosynthesis

c) combustion

d) decomposition

e) volcanic eruptions

For the next three questions, refer to the energy flow diagram below:
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14. If there are 500,000 kilocalories (kcal) in the producer level, how many kcal will become incorporated in the tissues of the secondary consumers?

a) 2

b) 50

c) 500

d) 5,000

e) 50,000

15. How many kcal will become incorporated in the tissues of the tertiary consumers?

a) 5

b) 50

c) 500

d) 5,000

e) 50,000

16. The consumer group represented by the perpendicular bar labeled “Y” is known as the:

a) carnivores

b) decomposers

c) omnivores

d) keystones

e) herbivores

17. Ants, Bees, Wolves, and Alligators are examples of organisms that are disproportionately important compared to their biomass in an ecosystem, and are therefore termed:

a) Golden Species

b) Specialist Species

c) Indicator Species

d) Generalist Species

e) Keystone Species

18. The biggest stores for carbon are found in these “sinks”:

a) Living organisms (especially plants) and troposphere

b) Ocean water and living phytoplankton

c) The African continent and Antarctica

d) Greenland and the Boreal Forests

e) The ocean floor and continents

19. What is Net Primary Productivity?

a) is the rate at which produces manufacture chemical energy through photosynthesis

b) is the rate at which producers use chemical energy through respiration

c) is the rate of photosynthesis plus the rate of cellular respiration

d) is the rate at which energy for use by consumers is stored in biomass

e) is the rate at which plants and other producers use photosynthesis to make more plant materials

20.  The shorter the food chain, the 

a) smaller the loss of usable energy.

b) fewer the number of organisms supported.

c) lower the net primary productivity.

d) smaller the gross primary productivity.

e) greater the heat loss

21. Which of the following ecosystems has the lowest level of kilocalories per square meter per year?

a) savanna

b) tropical rain forest

c) agricultural land

d) lakes and streams

e) open ocean

For the next three questions, refer to the following choices

a) nitrification

b) nitrogen fixation 

c) denitrification

d) assimilation

e) ammonification 

22. Ammonium ions are converted to nitrite ions and nitrate ions through the process of 

23. When organisms die, their nitrogenous organic compounds are converted to simple inorganic compounds such as ammonia through the process of

24. Nitrogen gas is converted to ammonia through: 

25. Which of the following includes all the others?

a) species

b) population

c) community

d) organism

e) biome

26. What percent of the incoming solar energy is captured by the green plants and bacteria and fuels photosynthesis to make the organic compounds that most life-forms need to survive.

a) 90%

b) 66%

c) 40%

d) 10%

e) less than 1%

27. The cycle most responsible for linking the other biogeochemical cycles is the:

a) carbon cycle

b) nitrogen cycle

c) phosphorus cycle

d) hydrologic cycle

e) sulfur cycle 

28. In a food chain dealing with krill eating marine producers, followed by the krill being eaten by a penguin, which in turn is consumed by an orca (killer whale), the secondary consumer is the: 

a) krill

b) marine producers

c) orca

d) penguin

e) squid 

29. Of the following processes, which (work) against gravity?

I. percolation

II. transpiration

III. infiltration

a) I only 

b) II only

c) III only

d) I and III only 

e) II and III only


30. Which of the following ecosystems has the highest average net primary productivity?

a) agricultural land

b) open ocean

c) temperate forest

d) swamps and marshes

e) lakes and streams

31. Humans are most likely to alter the earth’s thermostat through their impact on the compound.

a) carbon dioxide

b) nitrogen gas

c) phosphate

d) hydrogen sulfate

e) carbohydrates

32. The major plant nutrient most likely to be a limiting factor is

a) phosphorous

b) calcium

c) manganese

d) potassium

e) magnesium

For the next two questions, use the following answers:

A. estuaries

B. agricultural lands

C. open ocean

D. temperate forests

E. cavern

33. Which of the following has the greatest annual average net primary productivity per unit of area? 

34. Which of the following makes the greatest contribution to the world's overall net primary productivity? 

35. Which of the following is not one of the common phosphorus reservoirs in the ecosystem?

a) water

b) organisms

c) atmosphere

d) rocks

e) soil

36. In the field, you observe a lion chase, kill, and eat a gazelle. A vulture pecks away at the left over meat scraps. Beetles attack the remaining fragments. Finally, bacteria complete the breakdown and recycling of organic material. If you were to apply a general classification to the feeders, what would be the correct sequence?

a)  decomposer ( scavenger(detritus feeder( carnivore  

b)  carnivore( detritus feeder( scavenger( decomposer  

c)  carnivore( scavenger( detritus feeder( decomposer  

d)  carnivore( scavenger( decomposer( detritus feeder  

e)  decomposer( detritus feeder( scavenger( carnivore
For the next two questions, refer to the generalized ecological pyramids and the choices below: Select the best choice for each to label the pyramid type

a) pyramid of energy

b) pyramid of biomass

c) pyramid of consumers

d) pyramid of producers

e) pyramid of numbers

Question 37
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39. The most abundant gas in Earth’s atmosphere is





a)  nitrogen 


b)  oxygen 


c)  water vapor 


d)  carbon dioxide
   

e)  hydrogen
40.  Coral reefs, estuaries, and tidal zones are examples of:

I. Biomes

II. Aquatic life zones

III. Niches


a) I only 

b) II only

c) III only

d) I and III only 

e) II and III only


41. The two most important factors in climate are

a) temperature and insulation.

b) precipitation and pressure.

c) humidity, clouds, and wind.

d) temperature and precipitation.

e) wavelengths or light and atmospheric particulates.

42. During an El Nino-Southern Oscillation (ENSO),

a) prevailing easterly winds weaken.

b) surface water along the South and North American coasts becomes cooler.

c) upwellings of cold, nutrient- rich water are suppressed.

d) upwellings of warm, nutrient-poor water are suppressed.

e) primary productivity increases.

43. Thick, spongy mats of low- growing plants are typical of the 

a) arctic tundra.

b) coniferous forest.

c) tall- grass prairies.

d) tropical forests.

e) cold deserts.

44. Cone- bearing trees are characteristic of the 

a) taiga.

b) tropical rain forest.

c) temperate deciduous forest.

d) savanna.

e) prairies.

45. Oceans cover about ____ of the earth’s surface.

a) 50%

b) 60%

c) 70%

d) 80%

e) 90%

46. Lakes that have few minerals and low productivity are referred to as 

a) autotrophic

b) eutrophic

c) oligotrophic

d) mesotrophic

e) heterotrophic

47. Lake overturns brings

a) oxygen and nutrients to the surface

b) oxygen and nutrients to the lake bottom

c) oxygen to the surface and nutrients to the lake bottom

d) oxygen to the lake bottom and nutrients to the surface

e) no movement of oxygen and nutrients

For the next three questions, refer to the climate graphs and choices below:

a) Temperate grassland

b) Polar grassland

c) Tropical grassland

d) There is insufficient data presented here to distinguish biome types

e) A, B, and C each likely to apply to all three graphs below

48
49
50
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51. The limiting factor of the rain forest is

a) Water

b) Soil Nutrients

c) Temperatures

d) Light

e) Wind

52. The desert is an area where

I. Average annual precipitation is less than 25 centimeters

II. Evaporation is slow

III. The atmosphere (troposphere) serves as an excellent insulator

a) I only

b) II only

c) III only

d) I and II only

e) I, II, and III

53. Which of the following statements is false?

a) The gulf stream is largely responsible for the mild climate in northwestern Europe

b) The tilt and rotation of the earth as it rotates and moves around the sun cause seasonal variations in temperature

c) The inclination of earths axis and its rotation , as well as prevailing winds and differences in water density cause ocean currents

d) Equatorial areas receive significantly more solar energy than polar areas, which contributes to the formation of three large conventional cells known as Hadley cells, in both the northern and the southern hemisphere (each contain 3 cells)

e) The distance between earth and the sun is the single greatest determining factor involved in the creation of seasons, with the summer season in each respective hemisphere corresponding to the time that portion of earth is closest to the sun

54. Coral reefs 

I. Protect coastlines from erosion

II. Play a role in the global carbon cycle

III. Provide building materials for people, as well as food and jobs

a) I only

b) II only

c) III only

d) I and III only

e) I, II, and III

55.  Oxygen levels dissolved in water may vary widely due to:

I. Temperature
II. Number of decomposers
III. Number of consumers
a) I only
b) II only

c) III only
d) I and II only
e) I, II, and III

56.  Which of the following choices is false? Oceans are important because they

a) Regulate climate

b) Provide a source of many natural resources, such as minerals and fossil fuels.
c) Are one of the most highly productive ecosystems in the world unit area basis
d) Participate in the biogeochemical cycles.
e) Play a major role in the hydrologic cycle

57.  The ecosystem with the world’s highest net primary productivities per unit area is

a) Euphonic zone
b) Abyssal zone
c) Bathyal zone
d) Coastal zone
e) Benthic zone

58.  Estuaries exhibit

a) Constant temperature and salinity.
b) Constant temperature and variable salinity.
c) Variable temperature and constant salinity.
d) Variable temperature and salinity
e) No salinity

For questions 59-63, refer to the diagram above:

a) desert

b) boreal forest

c) tropical savanna 

d) chaparral 

e) polar grasslands
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64.  The most probable chain of cause and effect contributing to patterns of earth’s biomes is

a) Incoming solar energy and the earth’s geometry create climate patterns, which create air and ocean currents, which create biome patterns.

b) Incoming solar energy and the earth’s geometry create air and ocean currents, which create climate patterns, which create biome patterns.

c) Incoming solar energy and the earth’s geometry create climate patterns, which create biome patterns, which create air and ocean currents.

d) Air and ocean currents determine incoming solar energy and the earth’s geometry, which create climate patterns, which create biome patterns.

e) Incoming solar energy and the earth’s geometry create air and ocean currents, which create biome patterns, which create climate patterns.

65. Which of the following is indicative of the desert’s fragility?

I. high species diversity

II. brief regeneration time from vegetation destruction

III. slow growth rate of plants

a) I only

b) II only

c) III only

d) II and III only

e) I, II, and III

66.  Which of the following occurs when environmental conditions favor individuals at both extremes of the genetic spectrum and eliminates of sharply reduces numbers of individuals with intermediate genetic traits?

a) diversifying natural selection

b) directional natural selection 

c) mutational natural selection

d) punctuated natural selection

e) convergent natural selection

67. The gradual change in species composition of a given area is called:

a) species distribution

b) ecological succession

c) mutualistic dynamism

d) background extinction

e) genetic drift

68. A species which serves as an early warning sign that a community or ecosystem is being altered or degraded is termed:

a) a keystone species

b) a native species

c) an indicator species

d) an introduced species

e) an alarm species

69. Island “H” is 100 miles (162 kilometers) from the mainland (source population) and Island “I” is also 100 miles from the mainland.  Island “H” is seven times the size of Island “I”.  Given this information, which of the following statements is most likely false?

a) Island “I” can support larger populations because there will be less competition due to a smaller habitat area, as compared to “H”.

b) “H” populations will be less prone to extinction.

c) “I” should have fewer species.

d) “H” is more likely to have greater habitat variation.

e) “I” populations will be more prone to extinction.

For the next five questions, refer to the following choices regarding species interactions:

a) mutualism

b) commensalisms

c) parasitism

d) exploitation competition

e) interference competition


70. A relationship in which both species clearly benefit.

71. Competing species have roughly equal access to a specific resource but differ in how fast or efficiently they utilize it.

72.  A relationship in which one species benefits and the other species is harmed.

73.  Contending species end up not having equal access to some resources; e.g., one species chases another species away.

74.  A relationship in which one species benefits and the other species is neither helped nor harmed.

75.  Primary succession must occur prior to secondary succession in order to:

a) Change soil to rock

b) Change Ice to water 

c) Change rock to soil

d) Change soil to lichen 

e) Change lichen to algae

76. Which of the following is a cause of tropical deforestation?

I. Poverty

II. Conservation easements

III. Population growth

a) I only

b) II only

c) I an II only

d) I and III only

e) II and III only

77. An even-aged management strategy’s goal is:

a) Sustaining maximum biological diversity.

b) Highest quality timber production.

c) A long-term, ecologically-oriented approach.

d) Production of maximum return on a short-term basis.

e) Multiple-use of a forest stand.

78. Prescribed burns may be beneficial due to which of the following?

I. Some species depend on periodic fire for survival.

II. Natural fuel loads are increased.

III. Chances of a potential crown fire are decreased.

a) I only

b) II only

c) III only

d) I and III only

e) I and II only

79. Each of the following is an ecological service provided by marine biodiversity/ ecosystems EXCEPT for:

a) climate regulation

b) nutrient cycling

c) waste treatment and dilution

d) ground water recharge

e) nursery areas and habitats 

80. Which of the following has contributed to the endangered status of the blue whale?

I. the brief time period to reach sexual maturity

II. prolonged overharvesting of the blue whale

III. group feeding behavior in Antarctic waters

a) I only

b) II only

c) III only

d) II and III only

e) I, II, and III

81. Marine biodiversity is difficult to protect due to:

I. the perception that the seas contain inexhaustible resources

II. the difficulties in developing, monitoring, and enforcing international agreements

III. much of it being out of view of most People

a) I only

b) II only

c) III only

d) II and III only

e) I, II, and III

82. Which of the following helps explain the endangered or threatened status of the world’s sea turtles?

I. lack of natural predators

II. legal and illegal taking of their eggs

III. habitat degradation

a) I only

b) II only

c) III only

d) II and III only

e) I, II, and III

83. Which of the following statements is accurate regarding purple loosestrife?

I. it has reduced wetland biodiversity in the United States

II. it may be controlled by natural predators, such as a specific weevil or beetle

III. it has reduced habitat for some wetland wildlife

a) I only

b) II only

c) III only

d) I and II only

e) I, II, and III

84.  Human activity can lead to significant loss in biodiversity through all of the following activities EXCEPT 

a)  overfishing


b)  habitat fragmentation


c)  capture and release

d)  poaching

e)  release of invasive species
85. Approximately ¾ of the wood harvested in developing nations is used for 


a) Packaging


b) Housing


c) Paper


d) Flooring


e) Fuel

For the next three questions, refer to the following choices:


a) Deforestation


b) Habitat Fragmentation


c) Pollution


d) Overharvesting


e) Exotic Pet Trade

86. Legal and illegal capture and sale of wild species and animals for huge profits

87. Is the greatest eliminator of species – characteristically takes place in the word’s tropical forests

88. Caused by roads, logging, and urban development that reduces large habitats into smaller divided areas

89. The Environmental Law designed to identify and legally protect species in the United States and abroad is:

a) Kyoto Treaty

b) Montreal Protocol

c) Endangered Species Act

d) Convention on International Trade in Endangered Species

e) Convention and Biological Diversity

For the next three questions, refer to the following choices: 


a) Endemic species


b) Endangered species


c) Indicator species


d) Threatened species


e) Invasive species

90. Still abundant in its natural range but is declining in numbers

91. Non-native Kudzu plants out-competing local southeastern plants for resources

92. Species that serve as early warnings that the ecosystem or community is being degraded
93. If a toxic chemical gets into an ecosystem, it may be found at higher concentrations in tertiary consumers than in primary consumers as a result of 

a) biomagnification

b) coevolution

c) metastasis

d) bioaccumulation

e)   biological renumerification

94. A chemical is considered a carcinogen if it 

a) causes birth defects

b) changes DNA molecules

c) promotes the formation of cancerous tumors

d) irritates or damages the skin

e) all of the above

For the next two questions, use the following answers

a) virus

b) bacterium

c) protozoan

d) insect

e) worm

95. Ebola is caused by a 

96. Malaria is caused by a 

97. Which of the following is the leading cause of preventable death in the United States?

a) alcohol use

b) tobacco use

c) suicides

d) automobile accidents

e) AIDS

98. What does it mean that DDT has an LD50 of 50mg/kg for humans?


     a) half of the people ingesting 50mg of DDT will die


     b) a 100 kg man who ingests 5 grams of DDT has a 50% chance of dying


     c) a 50 kg woman who ingests 5 g of DDT has 100% chance of dying    


     d) a 10 kg child who ingests 500 mg of DDT has twice the chance of dying as a child who doesn’t ingest DDT


     e) a 10 kg child who ingests 500 mg of DDT has 50x the chance of dying as a child who doesn’t ingest DDT
99. In 1918-19 a ______ epidemic infected more than half the world's population and killed 20 million-30 million people. 

a) Tuberculosis

b) Flu

c) Measles

d) Yellow fever

e) malaria

100. What one factor has the most adverse effect on the average life span of people in the United States? 

a) Smoking

b) Poverty

c) Drug abuse

d) Education level

e) Being born male

PART B -- FREE-RESPONSE DBQ*

  DIRECTIONS:  After reading the given information, answer all lettered parts that follow.  Where explanation or discussion is required, support your answers with relevant information and/or specific examples.  It is recommended that you utilize 22 minutes for each question.
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